Parenting & Education  #8
Math Tips 2

	When teaching Math, it is important, of course, to make sure students understand how a basic operation works. What is the concrete meaning of addition or multiplication, and so on.  However, at some point, understanding an operation alone doesn’t work efficiently any more and some memorization becomes required.
	Let’s look at the concept of regrouping, often termed “borrowing” in subtraction. From Montessori early childhood classrooms to elementary classrooms, the concept of borrowing is taught generally concretely, as a bundle of 10 sticks/pencils – or a box of ten eggs, or a bag of ten candies -- being broken down into single objects and added onto the units column.  Now you have enough units to subtract from. The remaining bundles/boxes/bags can now have a lesser number of bundles/boxes/bags to be taken away from.
 (
  
7
 
1
4
-
2
 
 
8
 
 5  6
  
)	The next step is to translate all this into numbers, and so the child is taught that to take away, say, 28 from 74, he needs to cross out the 7, change it to a 6, then add a little “1” next to the 4. Thus, he would subtract 8 from 14, and 2(0)  from 6(0).  And ta-da: the answer is 56!  
	And all is well until the operations grow in width and variations and one day, the 
child is faced with subtracting 875 from 1,000. Or even worse, 875 from 10,801 or some
such number.  Now the crossing out and adding little “1” business go crazy and one has to 
concentrate very hard so as to not make a mistake.  The problem is, of course, that many 
little children have very short concentration spans.  So, the wrong answers start appearing.  
B’s and C’s start appearing on report cards, and very soon, the most active children start hating math because they feel like a failure when the word math is mentioned.
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)	In France, little children are taught the regrouping process in a different way. 
 When asked to take 28 away from 74, the student is taught to say, “I borrow 10 from 
the 7, and immediately return it to the 2.  8 taken from 14 is 6, and 3 taken from 7 is 5.” 
The student writes a little “1” on the left of the 4, thus making it a “14”. Then in the 
Same stroke of the hand, immediately writes a little “1” to the right of the 2. You are 
Supposed to add that “1” to the 2(0), thus making it a 3(0). 
	The main difference is that in the US, the children have a 60-20 in the left
 column, while in France they have  70-30. The difference is the same: 50. 
	One might ask, “Why the fuss?” The French way is harder to understand, anyway.  Indeed, as a child, I remember raising my finger (we raise fingers, not hands, in France) and asking the teacher why the little “1” was borrowed from the neighbor upstairs but returned to the neighbor downstairs. To which the teacher glared at me, and thundered, “when you borrow, you must return, don’t you?”  That scared me properly and I never dared ask again.  For some time, my math grades suffered from my obstinacy in refusing to return things to the neighbor downstairs…
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)	But many years later, as a math tutor, I suddenly realized that the French way was perfect for hyperactive children who had a short attention span. They don’t really care which neighbor you return your “1” to, they just want to get the right answer… fast!  The French way is much superior to the American way once you get into a whole bunch of zeros upstairs, sprinkled in a calculated way to confuse the student. The student only needs to remember to put down those little “1” in one stroke, up, down.  The result is clean – no crossing out and rewriting—and the process is streamlined: one column at a time, top, down, top, down.  No need to go across the top line back and forth, crossing and rewriting all over the place. 
	Let’s compare 1010 – 875 
done both ways.  How many
pitfalls await the child along the way
in the traditional way? While in the
French way, the child simply swings 
his hand, swish, swish, (1, 1), and 
says to himself, “10-5 is 5; 11-8 is 3; 
10-9 is 1.  Answer is 135.” Easy as pie.
French pie.
